Lo |8
Ol‘fm'l’

grelle s

Ha Le ?&w\(wn)(a?w

U(\ m‘)?z,\' on C\JCU‘CS-Q \& MA/MJ’D.W PCU'L- L’\
&EOMW\QQUF" Qusu( te ,Wu-“\‘@'&.p{ (ao-«
O .

Ext: Quel ot & eourcw\-a%q Qalzves assis Lama
lo. prumiere mg»i?

-\ v e A SR ges OSSCS L auant

-1\ 9 & Un bote |l  de 2% Uaves .
QA x leco —3 _EL?)_.* Lo /:330/0

2%
Fxz + Cowia 3A5% on do {ome o el .
325 = 3,25

| 6O

i vy




Tx3: Qull ot le volloun 4o
C) 35D/b C&& LY e) O oL do 5%

V\:-'Hlke L& L ESHMH}" Hg-_k'(,\ah_ E
|oO NP
= Gl 3%
&) 3 xlss =46T =65
|
= | x55 = 0,000l x5
\ COCOo —
2 O, 0055 =0,0085

E}C_‘f:/\‘oh‘n a Q‘(KQQ.QM A5/ d 'Une COuUrse
S‘x‘ oL QOJ\QQO('U\ ) Km, C%L)Q.\\& &):-S‘\.QA/\LQ Qx&\,\

Maste-i | 7
Maths Lo\ R e Mo tiode 2
%Km * 55 = q'%g Km gﬂg\ = Tlun <
‘i§ ruuv\'ﬂﬁl ( (o)) x &
?“mw\ﬁ} (cs‘cam’r (oo = x Cg/)
fﬂ«wurus ‘—_—."[‘5" ?
VQ/CCS;Cu:.an LO0 - x
- Skm A — ‘l‘f-
Slem - 2045 A

G'““)“ﬂ*q"gtz”‘) (1, F81<n | '8



